CenLANA ASC Meeting

Central Louisiana Area of Narcotics Anonymous Area Service Meeting

Meeting convened at 12:27 pm on 4-19-2025

Ashley CW. opened the meeting with a moment of silence followed by the Serenity Prayer. Dani P read the 12 Traditions and Pam W read the 12 Concepts.

Administrative Service Committee

Chairperson- Ashley CW
Vice Chair- Erica C.

Treasurer- Ashley CW
Present
Secretary- Daniella P.

ASR- Doug F
Present
ASRA- Davis H (interim)
Present
Absent

Subcommittees

H & I- Robbie L.

PR- Robbie L.

Literature- Doug/Karen

Present

Policy- Karen F.

Activities - Dani P (interim)

Present

Present

Group Service Representatives

Group		Voting	Host
Clean & Serene	Daniella	Yes	Feb
Jones Street	Frank A.	No	Mar
No Matter What	Davis H	Yes	Apr
Talking Heads	Doug F.	Yes	May
New Life Group	John P.	Yes	Jan

Secretary's Report: GSR's and Subcommittees read in silence for any corrections and then motion to approve the report. (Accepted with corrections noted).

Treasurer's Report: Read by (Ashley CW)

Monthly Deposits:

\$228.35

Bank Balance:

\$1519.02

Previous Balance

\$891.90

Checks Outstanding: \$+170.47

Other

\$ -685.00

Available Balance:

\$1519.02 to match bank balance

Available Balance:

\$663.55 actual avail bal minus checks

Money Set Aside:

\$710.00-

Working Balance:

\$181.90

ASR Report: Read by Doug F. (attached)

Subcommittee Reports:

H & I:

Robbie

read the report

(report attached)

Public Relations: Robbie

read the report

(report attached)

Literature:

Karen/Doug

read the report

(report attached)

Policy:

Karen

read the report

(report attached)

Activities:

Dani (interim)

read the report

(report attached)

GSR Reports:

Clean & Serene:

Daniella.

read the report

(report attached)

No Matter What:

Davis H.

(robbie) read the report (report attached)

Talking Heads:

Doug F

read the report

(report attached)

New Life:

John P abs w/ report (read by robbie) (report attached)

Old Business: Convention fundraiser crawfish boil - May 10th - \$15 tickets 8am - until

Motion 03152501 made by Doug second by John for \$100.00 be given to Literature to put more IP's in 2 racks (2 clubhouses). Intent: to put IP's in racks. MOTION PASSED.

New Business: Area will supply IPs to Treatment centers in 3 mo. or so using 7th tradition \$. Nominations: Pam ASRA/ASR (Davis - ASRA) // Lori - Vice Chair // Ashley - Treasurer // Dani - Secretary & activities // Robbie - H&I and PR // Doug/Karen - Literature // Karen - Policy

Elections: Voting at next area May 17th.

Announcements: H&I needs members; bring to homegroups. April 30th - Jones St last meeting. May 10th - Crawfish Convention Fundraiser. May 18th - Jarvis (7yrs), May () - John P & others. June 1 - Dani (5 yrs).

Next Area: 5/17/25 Talking heads hosting

Final Treasurer's Report:

Presented & read by: Ashley CW

Previous Balance: \$891.90
Donations/Other: \$122.15
Checks Written: \$-25.00
Available Balance: \$989.05
Money Set Aside: \$710.00Working Balance: \$279.05

20% to RSC: \$
Working Balance: \$
Available Balance: \$

Motion made to accept the final Treasurer's Report. All in favor. Motion to close, all in favor The meeting adjourned at 1:41 pm.

Central Area

Treasurer's Report		04/19/2025		
Monthly Deposit	\$228.35	not deposited yet		
Area Convention Funds	\$685.00	04-11-2025		
Current Bank Balance	\$1,519.02	04-17-25		
Previous Available Ending Balance	\$891.90	03-15-25		
Outstanding Checks:				
Outstanding checks total	\$170.47			
Avail Balance	\$1,062.37	04-18-25		
Subtract outstanding checks	\$170.47-			
Actual Available Balance	\$891.90	04-18-25		
Deposit unmade from last month:	-\$228.35			
Funds for convention fundraiser	\$685.00	04-11-2025		
Outstanding checks total	\$170.47			
Available balance (Matches Bank)	\$1,519.02			
Funds for convention:	-\$685			
Checks outstanding	-\$170.47			
Actual Available Balance:	\$663.55			

Money Set Aside:

Prudent Reserve \$150.00-

Activities \$250.00-

H&I \$50.00-

P.R. \$30.00-

\$30.00-Secretary

\$200.00-**RSC Travel**

Total Money Set Aside \$710.00-

Total Working Balance

+ 228.35 (apposit March)
\$ 181.90

Central Louisiana	posits		\$ 228.35	AVAILABLE BALAI	NCE		\$891.9			
Crawfish			U85.00							
Current Bank Bal		- -	\$ 1747.37							
Previous Available Balance			\$ 891.90							
				Drinks bou	wht by cl	ubhouse	\$3a.15			
Outstanding chec	ks				3 3		\$			
Description	Check #	Date	Amount				\$			
RivercityRen	070	11 16 24	25				\$			
1 1	1071	12 21-25	25				\$			
	1074	1.18.25	25				\$			
		2.15.25	25				\$			
V V	1079	3-15-25				Total Funds	\$+			
RSC Donation	080W	3 15 25	45.47			Total	\$			
		Total Checks	\$+170.47	Checks Written	Date	Check #	Amount			
			1,062.37	Literature		1	\$			
Funds Held Aside				Activities			\$			
Prudent Reserve	-\$150			H&I			\$			
Activities &	150-\$400			P. R.			\$			
H&I	-\$50			Secretary			\$			
P. R.	-\$30			RSC Travel			\$			
Secretary	-\$30			Rent			\$			
RSC Travel	-\$200			Other			\$			
Literature	\$0					Total checks	\$-			
Money Set Aside	-\$850	(352.37)		Total	\$			
	710	-	10 wa 37				[
Expenses		Date	Amount	4						
Subtract Outstandir	ng Checks	-	\$ 170.41							
Bank Fees			\$							
Other Expenses			\$							
			\$-	Available Balance		Total	\$			
		Total =	891.99	Money Set Aside			-\$860			
				Working Balance		Total	\$			
				RSC 20% Donation	Quarterly if ap	oplicable	\$-			
AVAILABLE BALAN	VCE	Total	\$891.90	Working Balance af	ter RSC donation	Total	\$			
				Ending Balance after	r RSC donation	Total +\$860	\$			
NOTES:						·				
					Alexander de la company					



REPORT

1 message

Douglas Fearon <dfearon56@gmail.com>
To: daniella price <pdaniella100@gmail.com>

Wed, May 14, 2025 at 12:40 AM

ASR REORT DOUG F.

My name is Doug and I am an addict. The convention is coming up May 23-25 at the Marriott hotel in Baton Rouge. Get your rooms now and mention NA. Nominations will be at the July RSC and elected in oct. And will take office in Jan. 2026. There was no new business. So there is nothing to vote on. I did take on policy so hopefully we have another ASR gong to region. I get the minutes from RSC and get Robbie to post them on the website. There is alot of stuff in those minutes to read.

MORE WILL BE REVEALED, DOUG F.

H& I is still serving 3 facilities with 4 different meetings. I still need to put our the racks & IPs at the 3 facilities. I will be trying to do that this month. Please remember to announce the need for members for H&I at your homegroups.

Please let me know if there is anything you need from H&I.

Thanks for letting me serve. Robbie L

Hello! My name is Robbie and I'm an Addict.

PR doesn't have a lot going on. I have updated the website with the latest minutes for both area and region.

I'm not sure if I mentioned it last month but we have added Natchitoches meetings to our area meeting list.

Jonestreet group will have their last meeting on April 30 due to lack of attendance & support. So before we print any more meeting lists we will wait till the changes have taken effect. I am going to try and remember to buy a plant for the radio station this month. I will be asking for reimbursement out of our budget next month. We will be giving Champions Recovery Clubhouse a sign to hang outside of their building. Please if you have any need for PR please let me know.

Add champions clubhouse meetings to meeting list

Thanks for letting me serve, Robbie L



Reports

1 message

Douglas Fearon <dfearon56@gmail.com>
To: daniella price <pdaniella100@gmail.com>

Wed, May 14, 2025 at 12:27 AM

LITERATURE REPORT

My name is Doug and I am a addict. I sent Danielle the spread sheet of what we sold, what we have and how much money we have. I have got IP's to both clubhouses for each rack.

MORE WILL BE REVEALED, DOUG

				In	voice		
Date Totaled:							
14			_				
Item	Quantity		Cost	_	Total Cost	Person/Group Sold To	Date
Basic Text	2	_	16.00	\$	32.00	George	
Spiritual Principle of the Day	2		15.00				
Guiding Principles	3	\$	15.00				
Living Clean	2	\$	14.00	_			
It Works How & Why	3	\$	13.00				
Just For Today Meditation	2	\$	13.00	\$	13.00	Karen	
Step Working Guide	2	\$	12.00	\$	24.00		
NA White Book	24	\$	1.00	_			
Totals:				_	_		
Tag / Medallion / Chip							
Tags							
White	16	\$	0.75	\$	3.00		
30Day		\$	0.75		•		
60Day	26	\$	0.75	\$	1.50		
90Day	27	\$	0.75	\$	3.00		
6Months	28	\$	0.75				
9Months	22	\$	0.75				
1Year	28	\$	0.75	\$	2.25		
18Months	20	\$	0.75				
Muliple Years	6	\$	0.75	\$	1.50		
Chips							
White	15	\$	0.60				
Orange	5	\$	0.60				- "
Black	15	-	0.60				
Medallion		\$	6.00				
1 year	2						
2 year	1						
3 уеаг	1			<u> </u>			
4 year	1						
5 year	0						
6 year	0			 			
				-			<u> </u>
7 year	1			<u> </u>			
8 year	0			ļ			
9 year	1			<u></u> .			
10 years	1						
15 years	2						
39 years	0						
Grand Total:	279				\$56.00		
literature Order	219			\$	118.80		

Literature Spreedsheets V.2.2021

Date: 12/21/24												
İtem	Quantity	Cost		Cos	t Total	Sale	e Price	Si	ales Total	Cash		
Basic Text	2	\$ 1	3.60	\$	27.20	\$	16.00	\$	32.00			
Spiritual Principle of the Day	2		3.00	\$	26.00	\$	15.00	\$	30.00	Money from Area		
Guiding Principles	3	\$ 1	3.05	\$	39.15	\$	15.00	\$	45.00			
It Works How & Why	3 [1]	\$ 1	0.70	\$	32.10	\$	13.00	\$	39.00	Literature Sold		
Living Clean	2	\$ 1	1.60	\$	23.20	\$	14.00	\$	28.00		\$	87.25
Just for Today Meditaton	2	\$ 1	0.70	\$	21.40	\$	13.00	\$	26.00	Previous Orders	\$	108.00
Step Working Guide	2	\$ 1	0.10	\$	20.20	\$	12.00	\$	24.00	i i		
White booklets	24	\$	0.80			\$	1.00			Current Orders	\$	
Totals:				\$	189.25			\$	224.00	Donations	[
										Cash Turning In	\$	-
Tag / Medallion / Chip										Cash on Hand	\$	93.80
Tags												
White	16	\$	0.56	\$	8.96	\$	0.75	\$	12.00			
30Day	28	\$	0.56	\$	15.68	\$	0.75	\$	21.00			
60Day	26	\$	0.56	\$	14.56	\$	0.75	\$	19.50			
90Day	27	\$	0.56	\$	15.12	\$	0.75	\$	20.25			
6Months	28	\$	0.56	\$	15.68	\$	0.75	\$	21.00			
9Months	22	\$	0.56	\$	12.32	\$	0.75	\$	16.50			
1Year	28	\$	0.56	\$	5.04	\$	0.75	\$	6.75			
18Months	20	\$	0.56	\$	11.20	\$	0.75	\$	15.00			
2+ Years B&G	9	\$	0.56	\$	87.36	\$	0.75	<u></u>	#REF!			
Chips												
White/ just for today chip	15	·	0.40	\$	6.00	\$		\$	9.00			
30 Day Chip	5	•	0.40	\$	2.00	\$		\$	3.00			
Multiple year chip	15		0.40	\$	6.00	\$	0.60	\$	9.00			
Medallions	7	\$	3.80	\$		\$	6.00	\$				
Totals:				\$	199.92			Γ.	#REFI			
Sub Totals:				\$	389.17		_		#REF!			

[1] 5

Orders	&	Req	uest
---------------	---	-----	------

Date	Who	Contact Info	Item	Quantity	Price	Total	Date Rec
10/18/2024			Basic text	1	\$16.00	\$16.00	
10/18/2024			30 day keytags	20	\$0.75	\$15.00	
7/9/2024			3 year medallion	1		\$6.00	
7/21/2024			1 year medallion	1	\$6.00	\$6.00	
8/9/2024			Literature purchased			\$64.90	
8/9/2024			Basic text	1	\$16.00	\$16.00	
8/17/2024			Donation			\$0.10	
8/17/2024			Step working guide	2	\$12.00	\$24.00	
8/17/2024			Multiple year key tag	10	\$0.75	\$7.50	
8/27/2024			Basic text	3	\$16.00	\$48.00	
8/27/2024			White key tag	4	\$0.75	\$3.00	
8/27/2024			30 day key tag	4	\$0.75	\$3.00	
8/27/2024			60 day key tag	4	\$0.75	\$3.00	
8/27/2024			90 day key tag	4	\$0.75	\$3.00	
9/3/2024			Just for today keytags	5	\$0.75	\$3.75	
9/3/2024			30 day keytags	4	\$0.75	\$3.00	
9/3/2024			60 day keytags	5	\$0.75	\$3.75	
9/3/2024			90 day keytags	4	\$0.75	\$3.00	
9/3/2024			6 months keytags	4	\$0.75	\$3.00	
9/3/2024			9 month keytags	3	\$0.75	\$2.25	
9/3/2024			1 year keytags	3	\$0.75	\$2.25	
9/3/2024			18 months keytags	2	\$0.75	\$1.50	
9/3/2024			Multiple year keytags	3	\$0.75	\$2.25	
9/13/2024			White booklets	6	\$1.00	\$6.00	
9/13/2024			Donation			\$0.60	
10/6/2024			It works how and why	1	\$13.00	\$13.00	
10/6/2024			Step working guide	1	12	12	
11/18/2024			white booklets	20	\$16.00		
11/18/2024			6 months key tags	15	\$8.40		
11/18/2024			60 days	15	\$8.40		
11/18/2024			30 days	30	\$16.80		
11/18/2024			white welcome	15	\$8.40		
11/18/2024			working guides	4	\$40.40		

Policy April Area

There are no updates to the Policy at this time.

Thank you for letting me serve,

Karen F Policy

4.19.25

Itallo overgone,

I have no update of the current activity we have planned-other than I am struggling to sell tickets. (have It I will be purchasing myself-but 78t yet paid for - I need and am asking for help selving them. I still plan to purchase crawfish supplies of still for hotdogs closer to the event. (Hotdogs-burs, condiments, so das + onips)

Dari Activities - indrim

Prica 5 tickets

Pond 10 tickets

Porboir David - 10 tickets

150) removed doubles

4.19.25

Helle Camiley.

CHRIND Serene is deing well, we still hold meetings every sunday night here & eiver city dubhouse at 7pm. We have no new members, 2 birthdays-Jarvis May 18m of 1400055 of Dari with 5 years one June (st. We have an Area donation of \$50.00. Welle have an average of 15-20 offenden per meeting.

thank you for allowing me to serve,

Davi P.

No Matter What Group Report April 2025

No Matter What is still meeting on Thursday nights at 7. Attendance has picked up. We have one new member. We don't have any birthdays coming up. We have reached our prudent reserve and have an area donation of \$24. Our group also raised \$120 to buy tickets for the newcomer at the crawfish boil.

Thanks for letting me serve, Robbie L GSRA





Report

1 message

Douglas Fearon <dfearon56@gmail.com>
To: daniella price <pdaniella100@gmail.com>

Sat, Apr 19, 2025 at 12:28 PM

TALKING HEADS REPOORT April 19, 2025 Doug F-GSR

My name is Doug and I'm an addict. We still meet two times a week: Tuesday at seven and Fridays at seven, Tuesday being a book study. We are donating sixteen dollars to area and paid for two tickets for a newcomer crayfish broil.

MORE WILL BE REVEALED, DOUG F



SATURDAY - MAY 10, 2025 8:00 AM - UNTIL

15\$ticket
perperson
Available
through:
DustinE.,
DougF.&
DaniP.

1ticket=
3.51bs
crawfish,
two
potatoes,
corn&drink



701 VETERANS DR ALEXANDRIA, LA 71301



Hotdog, chips
& drink
available for
those who
can't or don't
get crawfish!

